



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (Software Engineering) 1st Semester Section-A Morning Session: Autumn 2025

Registration #	Name	GE161					GE162					GE166					GE169					MT143					NC101				
		Application of Information & Communication Technologies					Functional English					Islamic Studies / Ethics					Applied Physics					Probability & Statistics					Pre-Cal 1				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BS/SE/A-25/M/A/01	Abdulrehman Moavia	76	B+	3.5	3	10.5	65	C+	2.5	3	7.5	75	B+	3.5	2	7.0	52	D	1.5	3	4.5	66	C+	2.5	3	7.5	61	C	2.0	3	6.0
IS/BS/SE/A-25/M/A/02	Agha Abdul Majeed	71	B	3.0	3	9.0	70	B	3.0	3	9.0	80	A	4.0	2	8.0	56	C	2.0	3	6.0	80	A	4.0	3	12.0	-	-	-	-	-
IS/BS/SE/A-25/M/A/03	Ahsan Nayyab Khan	72	B	3.0	3	9.0	55	C	2.0	3	6.0	81	A	4.0	2	8.0	62	C	2.0	3	6.0	51	D	1.5	3	4.5	-	-	-	-	-
IS/BS/SE/A-25/M/A/04	Ali Ahmed Mahar	60	C	2.0	3	6.0	66	C+	2.5	3	7.5	68	C+	2.5	2	5.0	42	F	-	3	-	65	C+	2.5	3	7.5	32	F	-	3	-
IS/BS/SE/A-25/M/A/05	Amna Batool	72	B	3.0	3	9.0	65	C+	2.5	3	7.5	75	B+	3.5	2	7.0	16	F	-	3	-	57	C	2.0	3	6.0	72	B	3.0	3	9.0
IS/BS/SE/A-25/M/A/06	Asad Ali Channar	72	B	3.0	3	9.0	65	C+	2.5	3	7.5	80	A	4.0	2	8.0	65	C+	2.5	3	7.5	51	D	1.5	3	4.5	-	-	-	-	-
IS/BS/SE/A-25/M/A/08	Bilal Sartaj Afridi	55	C	2.0	3	6.0	50	D	1.5	3	4.5	62	C	2.0	2	4.0	52	D	1.5	3	4.5	27	F	-	3	-	-	-	-	-	
IS/BS/SE/A-25/M/A/09	Fahad Ali	76	B+	3.5	3	10.5	75	B+	3.5	3	10.5	76	B+	3.5	2	7.0	61	C	2.0	3	6.0	62	C	2.0	3	6.0	61	C	2.0	3	6.0
IS/BS/SE/A-25/M/A/11	Fawad Ahmed	65	C+	2.5	3	7.5	70	B	3.0	3	9.0	66	C+	2.5	2	5.0	52	D	1.5	3	4.5	28	F	-	3	-	-	-	-	-	
IS/BS/SE/A-25/M/A/12	Ghufran Ullah	65	C+	2.5	3	7.5	65	C+	2.5	3	7.5	67	C+	2.5	2	5.0	71	B	3.0	3	9.0	51	D	1.5	3	4.5	61	C	2.0	3	6.0
IS/BS/SE/A-25/M/A/13	Gul Rang	71	B	3.0	3	9.0	65	C+	2.5	3	7.5	80	A	4.0	2	8.0	70	B	3.0	3	9.0	63	C	2.0	3	6.0	62	C	2.0	3	6.0
IS/BS/SE/A-25/M/A/14	Hafza Mehboob	80	A	4.0	3	12.0	75	B+	3.5	3	10.5	84	A	4.0	2	8.0	66	C+	2.5	3	7.5	81	A	4.0	3	12.0	75	B+	3.5	3	10.5
IS/BS/SE/A-25/M/A/15	Hammad Wajid	70	B	3.0	3	9.0	70	B	3.0	3	9.0	75	B+	3.5	2	7.0	71	B	3.0	3	9.0	51	D	1.5	3	4.5	61	C	2.0	3	6.0
IS/BS/SE/A-25/M/A/16	Hifza Rehab	83	A	4.0	3	12.0	80	A	4.0	3	12.0	85	A	4.0	2	8.0	65	C+	2.5	3	7.5	71	B	3.0	3	9.0	71	B	3.0	3	9.0
IS/BS/SE/A-25/M/A/18	Kumail Abbas	57	C	2.0	3	6.0	55	C	2.0	3	6.0	66	C+	2.5	2	5.0	66	C+	2.5	3	7.5	56	C	2.0	3	6.0	-	-	-	-	-
IS/BS/SE/A-25/M/A/19	Maha Iqbal	82	A	4.0	3	12.0	80	A	4.0	3	12.0	85	A	4.0	2	8.0	89	A	4.0	3	12.0	81	A	4.0	3	12.0	71	B	3.0	3	9.0
IS/BS/SE/A-25/M/A/20	Maryam Shahzad	70	B	3.0	3	9.0	65	C+	2.5	3	7.5	70	B	3.0	2	6.0	50	D	1.5	3	4.5	56	C	2.0	3	6.0	55	C	2.0	3	6.0
IS/BS/SE/A-25/M/A/21	Meer Muhammad Zeeshan	80	A	4.0	3	12.0	71	B	3.0	3	9.0	73	B	3.0	2	6.0	65	C+	2.5	3	7.5	70	B	3.0	3	9.0	52	D	1.5	3	4.5
IS/BS/SE/A-25/M/A/22	Muhammad Abdullah	81	A	4.0	3	12.0	66	C+	2.5	3	7.5	82	A	4.0	2	8.0	72	B	3.0	3	9.0	63	C	2.0	3	6.0	-	-	-	-	-
IS/BS/SE/A-25/M/A/23	Muhammad Awais	73	B	3.0	3	9.0	71	B	3.0	3	9.0	87	A	4.0	2	8.0	76	B+	3.5	3	10.5	65	C+	2.5	3	7.5	61	C	2.0	3	6.0
IS/BS/SE/A-25/M/A/25	Muhammad Huzaifa Kaleem	76	B+	3.5	3	10.5	70	B	3.0	3	9.0	81	A	4.0	2	8.0	57	C	2.0	3	6.0	77	B+	3.5	3	10.5	64	C	2.0	3	6.0
IS/BS/SE/A-25/M/A/26	Muhammad Ibrahim	41	F	-	3	-	32	F	-	3	-	62	C	2.0	2	4.0	19	F	-	3	-	21	F	-	3	-	-	-	-	-	-
IS/BS/SE/A-25/M/A/27	Muhammad Imran	64	C	2.0	3	6.0	60	C	2.0	3	6.0	80	A	4.0	2	8.0	51	D	1.5	3	4.5	59	C	2.0	3	6.0	60	C	2.0	3	6.0
IS/BS/SE/A-25/M/A/29	Muhammad Naveed Khan	70	B	3.0	3	9.0	65	C+	2.5	3	7.5	85	A	4.0	2	8.0	66	C+	2.5	3	7.5	70	B	3.0	3	9.0	66	C+	2.5	3	7.5
IS/BS/SE/A-25/M/A/30	Muhammad Salman	3	F	-	3	-	50	D	1.5	3	4.5	61	C	2.0	2	4.0	13	F	-	3	-	16	F	-	3	-	51	D	1.5	3	4.5
IS/BS/SE/A-25/M/A/31	Muhammad Sami	61	C	2.0	3	6.0	65	C+	2.5	3	7.5	70	B	3.0	2	6.0	12	F	-	3	-	18	F	-	3	-	-	-	-	-	-
IS/BS/SE/A-25/M/A/32	Muhammad Shameer Khan	70	B	3.0	3	9.0	56	C	2.0	3	6.0	73	B	3.0	2	6.0	51	D	1.5	3	4.5	50	D	1.5	3	4.5	-	-	-	-	-
IS/BS/SE/A-25/M/A/33	Muhammad Siraj	27	F	-	3	-	50	D	1.5	3	4.5	-	F	-	2	-	13	F	-	3	-	-	F	-	3	-	54	D	1.5	3	4.5
IS/BS/SE/A-25/M/A/34	Muhammad Ubaid Ahmed	78	B+	3.5	3	10.5	56	C	2.0	3	6.0	80	A	4.0	2	8.0	58	C	2.0	3	6.0	51	D	1.5	3	4.5	-	F	-	3	-

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (Software Engineering) 1st Semester Section-A Morning Session: Autumn 2025

		SE111					
		Programming Fundamentals (C)					
		Obtained	Grade	GP	Credits	Product	
IS/BS/SE/A-25/M/A/01	Abdulrehman Moavia	55	C	2.0	4	8.0	
IS/BS/SE/A-25/M/A/02	Agha Abdul Majeed	70	B	3.0	4	12.0	
IS/BS/SE/A-25/M/A/03	Ahsan Nayyab Khan	65	C+	2.5	4	10.0	
IS/BS/SE/A-25/M/A/04	Ali Ahmed Mahar	41	F	-	4	-	
IS/BS/SE/A-25/M/A/05	Amna Batool	35	F	-	4	-	
IS/BS/SE/A-25/M/A/06	Asad Ali Channar	60	C	2.0	4	8.0	
IS/BS/SE/A-25/M/A/08	Bilal Sartaj Afridi	50	D	1.5	4	6.0	
IS/BS/SE/A-25/M/A/09	Fahad Ali	58	C	2.0	4	8.0	
IS/BS/SE/A-25/M/A/11	Fawad Ahmed	61	C	2.0	4	8.0	
IS/BS/SE/A-25/M/A/12	Ghufran Ullah	54	D	1.5	4	6.0	
IS/BS/SE/A-25/M/A/13	Gul Rang	63	C	2.0	4	8.0	
IS/BS/SE/A-25/M/A/14	Hafza Mehboob	69	C+	2.5	4	10.0	
IS/BS/SE/A-25/M/A/15	Hammad Wajid	51	D	1.5	4	6.0	
IS/BS/SE/A-25/M/A/16	Hifza Rehab	69	C+	2.5	4	10.0	
IS/BS/SE/A-25/M/A/18	Kumail Abbas	51	D	1.5	4	6.0	
IS/BS/SE/A-25/M/A/19	Maha Iqbal	78	B+	3.5	4	14.0	
IS/BS/SE/A-25/M/A/20	Maryam Shahzad	52	D	1.5	4	6.0	
IS/BS/SE/A-25/M/A/21	Meer Muhammad Zeeshan	70	B	3.0	4	12.0	
IS/BS/SE/A-25/M/A/22	Muhammad Abdullah	63	C	2.0	4	8.0	
IS/BS/SE/A-25/M/A/23	Muhammad Awais	58	C	2.0	4	8.0	
IS/BS/SE/A-25/M/A/25	Muhammad Huzaifa Kaleem	59	C	2.0	4	8.0	
IS/BS/SE/A-25/M/A/26	Muhammad Ibrahim	35	F	-	4	-	
IS/BS/SE/A-25/M/A/27	Muhammad Imran	34	F	-	4	-	
IS/BS/SE/A-25/M/A/29	Muhammad Naveed Khan	50	D	1.5	4	6.0	
IS/BS/SE/A-25/M/A/30	Muhammad Salman	35	F	-	4	-	
IS/BS/SE/A-25/M/A/31	Muhammad Sami	38	F	-	4	-	
IS/BS/SE/A-25/M/A/32	Muhammad Shameer Khan	51	D	1.5	4	6.0	
IS/BS/SE/A-25/M/A/33	Muhammad Siraj	24	F	-	4	-	
IS/BS/SE/A-25/M/A/34	Muhammad Ubaid Ahmed	51	D	1.5	4	6.0	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (Software Engineering) 1st Semester Section-A Morning Session: Autumn 2025

Registration #	Name	GE161					GE162					GE166					GE169					MT143					NC101				
		Application of Information & Communication Technologies					Functional English					Islamic Studies / Ethics					Applied Physics					Probability & Statistics					Pre-Cal 1				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BS/SE/A-25/M/A/35	Muhammad Ukasha	60	C	2.0	3	6.0	27	F	-	3	-	75	B+	3.5	2	7.0	56	C	2.0	3	6.0	51	D	1.5	3	4.5	39	F	-	3	-
IS/BS/SE/A-25/M/A/37	Murtaza Muhammad	70	B	3.0	3	9.0	65	C+	2.5	3	7.5	67	C+	2.5	2	5.0	57	C	2.0	3	6.0	32	F	-	3	-	51	D	1.5	3	4.5
IS/BS/SE/A-25/M/A/38	Natasha Kaleem	81	A	4.0	3	12.0	80	A	4.0	3	12.0	86	A	4.0	2	8.0	66	C+	2.5	3	7.5	81	A	4.0	3	12.0	72	B	3.0	3	9.0
IS/BS/SE/A-25/M/A/39	Nimra Eman	86	A	4.0	3	12.0	86	A	4.0	3	12.0	87	A	4.0	2	8.0	86	A	4.0	3	12.0	95	A	4.0	3	12.0	87	A	4.0	3	12.0
IS/BS/SE/A-25/M/A/40	Roman Rauf	75	B+	3.5	3	10.5	70	B	3.0	3	9.0	80	A	4.0	2	8.0	76	B+	3.5	3	10.5	65	C+	2.5	3	7.5	58	C	2.0	3	6.0
IS/BS/SE/A-25/M/A/41	Shayan	75	B+	3.5	3	10.5	76	B+	3.5	3	10.5	86	A	4.0	2	8.0	80	A	4.0	3	12.0	80	A	4.0	3	12.0	-	-	-	-	-
IS/BS/SE/A-25/M/A/42	Shazia Batool	82	A	4.0	3	12.0	82	A	4.0	3	12.0	85	A	4.0	2	8.0	57	C	2.0	3	6.0	72	B	3.0	3	9.0	55	C	2.0	3	6.0
IS/BS/SE/A-25/M/A/43	Syed Muhammad Yazdan Mehdi Ka	70	B	3.0	3	9.0	65	C+	2.5	3	7.5	80	A	4.0	2	8.0	51	D	1.5	3	4.5	65	C+	2.5	3	7.5	-	-	-	-	-
IS/BS/SE/A-25/M/A/45	Talal Khan	67	C+	2.5	3	7.5	25	F	-	3	-	67	C+	2.5	2	5.0	16	F	-	3	-	58	C	2.0	3	6.0	52	D	1.5	3	4.5
IS/BS/SE/A-25/M/A/46	Talha Ishaq	75	B+	3.5	3	10.5	65	C+	2.5	3	7.5	75	B+	3.5	2	7.0	57	C	2.0	3	6.0	56	C	2.0	3	6.0	-	-	-	-	-
IS/BS/SE/A-25/M/A/47	Usman Younas	70	B	3.0	3	9.0	66	C+	2.5	3	7.5	80	A	4.0	2	8.0	84	A	4.0	3	12.0	67	C+	2.5	3	7.5	-	-	-	-	-
IS/BS/SE/A-25/M/A/48	Wasif Ali	70	B	3.0	3	9.0	65	C+	2.5	3	7.5	76	B+	3.5	2	7.0	66	C+	2.5	3	7.5	75	B+	3.5	3	10.5	60	C	2.0	3	6.0
IS/BS/SE/A-25/M/A/49	Yasir Kamal	55	C	2.0	3	6.0	55	C	2.0	3	6.0	61	C	2.0	2	4.0	31	F	-	3	-	19	F	-	3	-	50	D	1.5	3	4.5
IS/BS/SE/A-25/M/A/50	Ziad Rafiq	61	C	2.0	3	6.0	55	C	2.0	3	6.0	76	B+	3.5	2	7.0	50	D	1.5	3	4.5	55	C	2.0	3	6.0	-	-	-	-	-

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
BS (Software Engineering) 1st Semester Section-A Morning Session: Autumn 2025

		SE111					
		Programming Fundamentals (C)					
		Obtained	Grade	GP	Credits	Product	
IS/BS/SE/A-25/M/A/35	Muhammad Ukasha	41	F	-	4	-	
IS/BS/SE/A-25/M/A/37	Murtaza Muhammad	51	D	1.5	4	6.0	
IS/BS/SE/A-25/M/A/38	Natasha Kaleem	70	B	3.0	4	12.0	
IS/BS/SE/A-25/M/A/39	Nimra Eman	87	A	4.0	4	16.0	
IS/BS/SE/A-25/M/A/40	Roman Rauf	75	B+	3.5	4	14.0	
IS/BS/SE/A-25/M/A/41	Shayan	70	B	3.0	4	12.0	
IS/BS/SE/A-25/M/A/42	Shazia Batool	72	B	3.0	4	12.0	
IS/BS/SE/A-25/M/A/43	Syed Muhammad Yazdan Mehdi Ka	57	C	2.0	4	8.0	
IS/BS/SE/A-25/M/A/45	Talal Khan	57	C	2.0	4	8.0	
IS/BS/SE/A-25/M/A/46	Talha Ishaq	51	D	1.5	4	6.0	
IS/BS/SE/A-25/M/A/47	Usman Younas	85	A	4.0	4	16.0	
IS/BS/SE/A-25/M/A/48	Wasif Ali	58	C	2.0	4	8.0	
IS/BS/SE/A-25/M/A/49	Yasir Kamal	39	F	-	4	-	
IS/BS/SE/A-25/M/A/50	Ziad Rafiq	50	D	1.5	4	6.0	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026